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15,0002 *90% 1,350
= 405
Al 945
SSESAME 2Y(BX) 150,000 135,000 15,000
= 17,460
I} 25,998
Al 106,542
307 12+0IH 150,000 135,000 15,000
= 7,460
In} 25,998
Al 106,542
05 BI2reIEt3 150,000 135,000 15,000
O+3SAME 2HI(01Y)
150,000, 0002 14 150,000
= 17,460
I} 25,998
Al 106,542
N2 SHSRRME SY(2X) 180,000 180,000 0
= 54,000
Al 126,000
307 212H0I 180,000 180,000 0
= 54,000
Al 126,000
05 BI2reIEta 180,000 180,000 0
ON2A QIS ST RME 2% 180,000,002 180,000
= 54,000
Al 126,000
0K 1 = X X| 1,124,030 615, 180 508,850
201 Y2 Y| 32,700 40,400 AT7,700
01 ALl 32,700 40,400 A7,700
O1. 2ptegH| 7,100
“HOHOIRIY MEFENTY OHHEXE
200,0002 1074 2,000

_14_




A FUSX
HE: HUASXSH(ASISX/HLAHESXR)

el D=2 XX (St &=
- _ _ P NE e
2N -3 - c2(3H) - NEME - HES 0] Ao oﬁf@ Hl =2
-ZOfQl EX|ITH ORI 80024 %2, 0004 1,600
~SOHQI =R ES B8 WES HE
2,000,000 * 14! 2,000
-2AE ZIYA 2FHEH 22
100,000 *1 Al 2+*153] 1,500
O5. 2 &H| 2,800
—HOHQIARER 02422 S A
7,000 x4H 102 %103 2,800
06.24x2 22,800
~EHOHOICHA AL Al N2 22,800
° XX EOHOIE 3 500,000 100 A x 122 6,000
A2t SOHEOH QIS 3
700,000 200 A * 128 16,800
202 04 5,040 5,040 0
01 2oy 5,040 5,040 0
OXOQEX SR=R0H|
60,0002 x4 H »3 73] 5,040
301 LB AZ 39,960 39,640 320
01 MIEEE2E 2 12,840 11,800 1,040
OFMLEXAL 22 9,840
—ZHOHQI A S Al & (DF2I O B Q| 5IHA)
20,0002 1402 «33 8,400
~HONQI DS MEDIIE (6O A)
20,0002 x24 3 «33| 1,440
ONASHOQ MBHEI| FNE
200,000 *15% 3,000
10 BHALAHIEAZ 27,120 27,840 AT20
OZEe FoHQo & Jlgal &It
60,0002 *80H 4,800
OZONI XIS R £33 EIHoH|
60,000 x4 22 x7 I EHH| 3,360
O&EIXZ0lo & J|ES#HAF IO
60,0002 x40 2,400
OZohel M2I|sHFIIHa =IHoH|
60,0002 * 102 4 2,400
OXfe FETIIsHIIHa &HIHoiH|
60,0002 « 123 x3 2,160
ONZEZ2HEAO Ot2tEWMS A0
60,0002 «30H 1,800
OAZZEOHQ =3 JHEDNS 2IHoH|
60,000 «30H 1,800
OA2ZZONQ =35 LQI&XI A ZIHOH
60,0002 x15% 900
Os0tol 2=3tAAUE &HIHoiH|
60,0002 *15% 900

_15_




A FUSEX
HI: AWUEXNSE(AESX/FHLHESXH)

Sl FOHOIZXIX (S5 &2)
_ _ _ N E
SA-EFH - SA(SAH) - MREAY - BES Off &F K ‘Oﬁ,‘\ja‘; Hws2
OF0je AEHUZMUE L FSotnS FIH0
bl 60,0002 * 15 900
OXNE 2 UHA Zojol HILD0HE L 0=
CH3l & JHofb| 60,0002 *15% %22l 1,800
OXNE 2 REHE Z0j HSBIZ &IHoit]
60,0002 +40% 2,400
OZOHQl RBAX HII0H 60,0009 25 1,500
307 Q20| H 634,900 530, 100 104,800
02 BIHBAEE 156,400 140,000 16,400
OF0je MeAE St X 16,000
B0l Al & 2,000, 00024 *67H 2 12,000
—HQIAI& 2,000, 00024 *2H 4,000
OBOHQISTILAl 2HEl 25,000,000 x2CH 50,000
ONHFA=NBS HH2Y
500, 0002 * 1CH 122 6,000
O=01218sl HFSY 500,000 «20H+128 12,000
OSSN L2480 2% 22,000,009 22,000
OZESHABSI] BOHAAE M
8,400,000 +63| 50,400
04 QIABARE 20,000 15,000 5,000
OF0joIel & J1i8 L PIOHB S A(AIEHPIE
AF) 20,000,000% 20,000
05 Pl 458,500 375, 100 83,400
OBNASHEND 0SS0 29
10,000,000 *3CH 30,000
OZOHLHME 2% 35,000,000 «10H 2 35,000
OF0fel LX2IA Q12| 2EE)
310,002 +70 +7 2 151,900
OMASHR FALSAIL 0|82 X
50,0002 #4525 * 122 27,000
OF0HQ HOIMEAIL S|
1,050, 0002 27H A +12 25,200
ONFAAX M 22t X2
1,200,000 *123] 14,400
OZ 0§54 OF3tEI0l 2% 16,500,008 x23! 33,000
OBOHUEA ARA 22| X2
500,000 *5 7 £+ X122 30,000
ONSHOHQ HMES+2 29 40,000,0008 40,000
OBASH MESSIT B2
3,000, 0002 +37H 2 9,000
OMAS HOHOIFL FHEHAAY X &
3,800,00024 %107+ 7 38,000
OFAZH L IHE S 2304 2Y
10,000, 0002 * 144 0,000
OXMZOHQ AFBIS DS 15,000,008 14! 15,000
401 Al&HIL =20 411,430 0 411,430
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A F=RSX L
Hz: IR Z=SE (ASI2X/FHLHSKH)

Sl ROHQI= XK EER:E]
- _ _ NUE &
S EHB .S (BH) - HRAIY - B2 Of) A o4 e HDZS2
01 Al&H 408,420 0 408,420
ONMZOHL 2SS4 55 o Y2TA 108,420
=P ] 100,000, 0002 *8.42/100 8,420
L 100,000, 0002 * 14! 100,000
OFOHQISHH (A2, 501) ALRAl DH
300,000, 00021 *14! 300,000
02 22l 2,110 0 2,110
OXNMEOHE SSA E= U H2BAF 22l
100,000,0002 %2, 11/100 2,110
03 Al&L0HHI 900 0 900
OXNMEOHO SSA 55 UL H2TA Al&E
CHH| 100,000, 0002 *0.90/100 900
HOHQUZXIAIL SAR +L(2F) 270,720 153,600 117,120
[ 81,178
Al 189,542
307 2I2+0| & 270,720 153,600 117,120
[ 81,178
Al 189,542
05 QI2tPIEr2 270,720 153,600 117,120
OROMWASTAL FEAX 2 270,720,0008! 270,720
= 81,178
Al 189,542
HOHQIMEBAL BEHEX A (SE) 5,280 2,250 3,030
[ 1,453
Al 3,827
307 QI210|H 5,280 2,250 3,030
[ 1,453
Al 3,827
05 QI2tPIEr2 5,280 2,250 3,030
ORMHQAMEAL HES=X
30,0002 %176 5,280
[ 1,453
Al 3,827
TONQIMEB Al LA AR QFZH X (2X) 8,800 6,500 2,300
[ 2,672
Al 6,128
307 QI210|H 8,800 6,500 2,300
= 2,672
Al 6,128
05 QI2t9IEra 8,800 6,500 2,300
OROHQIMEAL AAK O FZH| X2
50,0002 * 1762 8,800
[ 2,672
Al 6,128
HOHQIMEAL 2H(2F) 3,129,000 1,149,396 1,979,604




A FUSX
HE: HUASXSH(ASISX/HLAHESXR)
el ZH=XXHA (el &g

SN CR(EH) - NRAY - BES ]

22
J2
=2
Rl
12
==
S
Ol
0

490,001
,324,819
,314,180

> ML N

—_

307 &l

e
v

Ol & 3,129,000 1,149,396 1,979,604
490,001
,324,819
,314,180

> M

—_

05

=
S
40

3,129,000 1,149,396 1,979,604

e Jm

0z b
il
>
x
i
02
=
)
02

O
04
2

3.129,000,000%! 3,129,000
490,001
,324,819
,314,180

> ML N

—_

KNMEHAHAANE ML (EX) 99,000 45,000 54,000
24,000
75,000

=

307 2120l & 99,000 45,000 54,000

24,000
75,000

=

El

=

05 ezt

ORXIX

0

&= 99,000 45,000 54,000
ZOHAEAAIE H4EXF 99,000,000 99,000
24,000
75,000

Z

= H

SO NSXNIAHE 2S(2X) 135,000 125,000 10,000
37,500
97,500

=z H

307 G12t0lH 135,000 125,000 10,000

37,500
97,500

=

05 QIZtRE =S 135,000 125,000 10,000
OS0! NSNS 135,000,000 135,000

37,500
97,500

=z

ZOHAAATHEANE 2H(EX) 782,836 381,800 401,036
128,000
35,476
619,360

> M N

307 2120l & 782,836 381,800 401,036
128,000

35,476
619,360

= AL N

05 QIZtRE = 782,836 381,800 401,036
ol

782,836,000 782,836
128,000
35,476
619,360

> M N




A FUSX
HE: HUASXSH(ASISX/HLAHESXR)

el ZH=XXHA (etel: =3
_ _ _ Muo
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
ZoHel THIOt=SXSAIHEH 2F(EX) 90,000 90,000 0
< 18,000
im) 46,723
Al 25,277
307 GI12t0ld 90,000 90,000 0
S 18,000
i 46,723
Al 25,277
05 RIZtRE S 90,000 90,000 0
OFOMAMIN=EXSAHEH 2= (01)
90,000,000 90,000
< 18,000
im) 46,723
Al 25,277
ZOHIFAESAIE 2E(BX) 416,430 400,000 16,430
< 96,905
im) 18,400
Al 301,125
307 G12t0lH 416,430 400,000 16,430
S 96,905
i) 18,400
Al 301,125
05 BIZtRAEZ 416,430 400,000 16,430
OHMHF2tES A FHI(01e)
83,286,000 «57H 2~ 416,430
< 96,905
im) 18,400
Al 301,125
QI BESAIE 2SS (EX) 210,142 100,000 110,142
= 65,000
im) 26,150
Al 118,992
307 GI12told 210,142 100,000 110,142
S 65,000
im) 26,150
Al 118,992
05 2IIRAE S 210,142 100,000 110,142
OHOMCIHIIESAIE 2F(01)
105,071,000 *2J4 2 210,142
< 65,000
im) 26,150
Al 118,992
ZOHIZSSMEINFERG(ER) 252,000 240,000 12,000
S 57,960
im) 40,000
Al 154,040
307 QI2t0ld 252,000 240,000 12,000
= 57,960




SN
X XH .
S Tt

el

==X
ZHA=ZXNEST (A EXN/HLASIIE)
O =XX&

SNBSS - MEAY - BES

[
2

20
B
2

= K

40,000
154,040

05 BI2t

42,000,000 *6IH &~

Eall SN

252,000

252,000
57,960
40,000

154,040

240,000

12,000

0z
2
re
0z
!
o
x
m
HO
02
H
FA

= B

310,000
62,010
36,565

211,425

310,000

307

(=]
ry
o
rx

[

= BN

310,000
62,010
36,565

211,425

310,000

05

a
S
0
o

e Jm

O
04
2

0>
Sl
a
=
m
H0
08
°
0Q

310,000,000&

= BN

310,000

310,000
62,010
36,565

211,425

310,000

0
=
o
O
i
o
-
=
A0
02
T
P

= BN

850,000

35,000
272,000
543,000

810,000

40,000

307 GI12t0lH

Z B

850,000

35,000
272,000
543,000

810,000

40,000

05 212t

El
OFMUSE=EXZ 22 (01)

850,000,000&

Eall SN

850,000

850,000

35,000
272,000
543,000

810,000

40,000

oY
3
0
>
H
x
=
Mo
09
HT
Pl

=z H

200,000

60,000
140,000

200,000

307 QI12+0l &

= H

200,000

60,000
140,000

200,000

05 BI2tSIEt3

200,000,000&

= M

200,000

200,000

60,000
140,000

200,000

S

50,000

15,000
20,000

50,000

_20_




2N FOSX D

HH: ZHA=2XNST (M EXN/HLAHASIIE)

el ZH=XXHA

SNBSS - MEAY - BES

[
2

20
B
2

15,000

307 ¢!

e
v

OIS

= B

50,000
15,000
20,000
15,000

50,000

05

=
s
40

O
2
0x
0 Jm

=

JFALE 0] THAAL(012)

50,000,000&

> K

50,000

50,000
15,000
20,000
15,000

50,000

Pa
Ja
0z
2
e
Pa
0

08
H
FA

H0

= H

101,500

25,375
76,125

101,500

307 @12t

S
!

= M

101,500

25,375
76,125

101,500

05

=
s
(%
o

101,500,000

= H

101,500

101,500

25,375
76,125

101,500

= H W

567,834
397,484

68,140
102,210

480,000

87,834

307 QI12t0ld

= N W

567,834
397,484

68,140
102,210

480,000

87,834

05 212t

567,834,000

= MW

567,834

567,834
397,484

68,140
102,210

480,000

87,834

=M

,326, 148

927,701
157,801
240,646

1,380,610

Ab4,462

307 2120l &

=z HnH

,326,148

927,701
157,801
240,646

1,380,610

A54, 462

05 12+

1,326, 148,000&

H

,326,148

,326, 148

927,701

1,380,610

N54,462

_21_




SN
L BOHQIZXSE (AEZX/HAANETR)
£l

X ZH
o=

==X

O =XX&

SA - HE - SR(E) - HRAY

C-HAS

=1
B
121

= H

157,801
240,646

= M

24,624

7,867
16,757

= H

24,624

7,867
16,757

24,624,000

= M

24,624

24,624

7,867
16,757

NI JIS AL 2EIAMS (EX)

= M

25,000

7,500
17,500

15,500

307 2l

rJ
=
gl

= M

25,000

7,500
17,500

15,500

05

a
s
0

=2
=]

e Jm

O
04
2

JFS Al 2t el At

25,000,000

= M

25,000
25,000

7,500
17,500

15,500

H1
>
J
0
2
e
J
=
e
Mo
08
HT
P

= H

571,000

400,000
171,000

571,000

307 @12t

e

J
=}
r

= M

571,000

400,000
171,000

571,000

05

e
N
> {0
Jo
oy

O
H

N
024
2
o
Ju
>
il
Mo
02

571,000,000&

= M

571,000

571,000

400,000
171,000

571,000

R
2
ng
e
=
0
HT
FA

= HnH

14,400
10,080
1,728
2,592

14,400

307 2120l &

= H W

14,400
10,080
1,728
2,592

14,400

05 CI2tSiEra
gt Ccl

14,400,000&

= H W

14,400

14,400
10,080
1,728
2,592

14,400
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A FUSX
HE: HUASXSH(ASISX/HLAHESXR)
el ZH=XXHA (el &g

OH
i

SN CR(EH) - NRAY - BES el

[
2
R
12

o

£l

0l%

IS

ZOHQIDISHEXRE (2X) 150,000 0 150,000
75,000
75,000

=z H

307 2120l & 150,000 0 150,000

75,000
75,000

= H

&= 150,000 0 150,000
OHOMHLIIISHH XA 150,000,000 150,000

75,000
75,000

= H

ZOHQl M2 OrHE X & 6,690,687 6,338,307 352,380
4,460,111
807,061
3,750
1,419,765

> kA

Ol
=2
rh

ORI FEIHEAD (BX) 38,000 38,000 0
19,000
7,600
11,400

=z HnH

402 QI2ERHE0IM 38,000 38,000 0
19,000
7,600
11,400

= H W

2
e
s
o
M

N 38,000 38,000 0
Ab

3,800,000 107t 38,000
19,000
7,600
11,400

O
Ol
=]
[
07 HI
2
e
2l
e
FA

= Hn W

O SETHHI XA (EX) 1,728 1,728 0
864
432
432

= HnH

301 et ez 1,728 1,728 0
864
432
432

= H W

= 1,728 1,728 0
EHH| X & 1,728,000& 1,728
864

432
432

= N W

ZOHQRHASHI KR (2 X) 17,622 16,212 1,410
14,288
1,333
2,001

= N W

301 Let2H= 17,622 16,212 1,410
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SN OIS XD
B ZOHQI=XBE (MBS X /HLHEX )

o oM (el &)
_ _ _ Muo
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
= 14,288
= 1,333
Al 2,001
01 A2IEEE 063 17,622 16,212 1,410
OHOHI XA St X & 17,622,000 17,622
= 14,288
< 1,333
Al 2,001
ZHAEXRIR(EX) 17,630 15,048 2,582
= 14,105
< 1,409
Al 2,116
301 LptEasg 17,630 15,048 2,582
= 14,105
S 1,409
Al 2,116
01 AISIEE A =0l= 17,630 15,048 2,582
OFMHAERI|FAWR 17,630,000& 17,630
= 14,105
= 1,409
Al 2,116
B+ (EX) 3,493,771 5,373,043 A1,879,272
= 2,305,640
= 395,251
Al 792,880
307 Q12t0ld 3,493,771 5,373,043 A1,879,272
= 2,305,640
= 395,251
Al 792,880
01 A2 F =4 3,493,771 5,373,043 A1,879,272
OFM==X& 3,493,771,000& 3,493,771
= 2,305,640
< 395,251
Al 792,880
Ol ZHI XA (E=x) 200,664 153,557 47,107
= 160,533
< 16,053
Al 24,078
301 LptEasg 200,664 153,557 47,107
= 160,533
S 16,053
Al 24,078
01 A2 H %063 200,664 153,557 47,107
OoFofelelgdl XA 200,664,000 200,664
= 160,533
S 16,053
Al 24,078
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A FUSX
HE: HUASXSH(ASISX/HLAHESXR)

CHOl: RHOHOIMEOLN K| (B9 &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
ZOjQI=R LRAKB(BE) 89,326 90,840 A1,514
= 44,663
= 17,865
Al 26,798
307 2120/ H 89,326 90,840 A1,514
=2 44,663
= 17,865
Al 26,798
05 QI2t9IErz 89,326 90,840 A1,514
OFOHI=XI LRl X 89,326,0002 89,326
=2 44,663
= 7,865
Al 26,798
Dol SHESALXA(LE) 35,000 35,000 0
= 8,750
I} 3,750
Al 22,500
402 Q12X 01 F 35,000 35,000 0
& 8,750
I} 3,750
Al 22,500
01 QIARZRE 35,000 35,000 0
OBOHASESSAAXIA(012) 35,000,0009! 35,000
& 8,750
I} 3,750
Al 22,500
HOHOIS LSRR (2X) 397,135 425,924 £28,789
= 279,606
= 47,011
Al 70,518
307 2120l H 397,135 425,924 ~28,789
=2 279,606
= 47,011
Al 70,518
01 22YR2| 397,135 425,924 £28,789
OB OIS =X 397,135,000 397,135
= 279,606
= 47,011
Al 70,518
ROHQIEOIRXIME TROIKAAL (BE) 292,415 188,955 103,460
= 146,208
= 58,482
Al 87,725
101 Q124H| 292,415 188,955 103,460
= 146,208
= 58,482
Al 87,725
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2M: Fo=
M ANSYAL (FUSKD)(OIEHIIE)

ol D=2 (F2=X D) (cre:®e)
_ _ HE T
SH-EFHHA(FA) - NIRAE - BES Of] AF R 'oﬂ/'\_WH Hons2

202 OiH| 44,880 36,720 8,160

01 2Lj0dt] 44,880 36,720 8,160
OFQADETOHEl 20,0002 *172*11L 128 44,880

WEETS Y- ENIPIEETES! 4,460,000 4,071,604 388,396

TSRS 4,460,000 4,071,604 388,396

BB MBS 4,460,000 4,071,604 388,396

701 JIEBIHEES 4,460,000 4,071,604 388,396

01 JIEIBIHEED 4,460,000 4,071,604 388,396
OBZ0ISLEH ME2  4,460,000,0008 4,460,000
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